JNE=F EHIEBITRXRY —

&5 RN N—= B 4t B} R m 45
1 —FOEFTAMI) 3 120 % =3
2 —FOEFTAMQ2) 4 120 % =3
3 —FDOEFTAMA3) 5 120 % =3
4 —FOEFTAMMY) 6 120 % =3
5 ZFDEF(1) 7 120 % =3
6 FEHEO 8 /20 % p=3
7 ZFEDEF(2) 9 120 % &
8 Fml L) 10 120 % &
9 Fwml £O(02) 11 120 % &
10 Fl L O(03) 12 120 % =
11 ZFEDEF(3) 13 120 % &
12 Lxo>nrwlL LD 14 120 % p=3
13 ZFDEF4) 15 120 % =3
14 EHELCTAZESD 16 /20 % Pl
15 ZFDEF() 17 120 % =3
16 FABICRE DT LD 18 /20 % p=3
17 ZFDEF(6) 19 120 % =3
18 MAEDOL LD 20 120 % h=3
19 ZFDEF(T) 21 /20 % &
20 Bohrb3eE 22 /20 % &
21 ZFDEF(S) 23 /20 % =3
22 boTLEONE (1) 24 120 % h=3
23 HbHTLEONE H(2) 25 /20 % p=3
24 LT LEONE H(3) 26 /20 % p=3
25 ZFDEF) 27 120 % =3
26 BFDMLIIT 28 120 % &
27 ZFEDEF(10) 29 120 % =3
28 ExHDLED 30 /20 % p=3
29 ZFDEF(11) 31 120 % b=}
30 18 A A 32 120 % h=3
31 ZFDEF(12) 33 120 % =3
32 KEFHRD D 34 120 % =
33 FOHR(1) 35 120 % h=3
34 FOHR(2) 36 /20 % Pl
35 AE—F%L LD 37 120 % p=3
36 RADFH 38 120 % =,
37 O—<F(1) 39 120 % =3
38 O0—<F(2) 40 120 % =3
39 O—<F(3) 41 120 % =3
40 O—<%(4) 42 120 % p=3
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41 ZFDEF(13) 43 /20 % &
42 FERDbLB O 44 /20 % p=3
43 IFHLEEZ LD (1) 45 120 % =3
44 IFHLEEZ LD (2) 46 120 % =3
45 IFHLEEZ LD (3) 47 120 % =3
46 IFHLEEZ LD 4) 48 120 % =3
47 BEEIEA D 49 /20 % p=3
48 CEHEEE 50 120 % &
49 ZFDEF(14) 51 120 % &
50 7= 6 <E@ (1) 52 120 % =
51 756 < (2) 53 120 % =
52 756 < (3) 54 120 % =
53 ZFDEF(15) 55 120 % &
54 ARL LD 56 /20 % p=3
55 ZFDEF(16) 57 120 % &
56 FARTEZD 58 /20 % Pl
57 HRDORE(L) 59 /20 % p=3
58 HRDORE(2) 60 /20 % p=3
59 HRORE(3) 61 120 % h=3
60 HRORE(4) 62 120 % =
61 ZFDEF(IT) 63 120 % b3
62 PEa &5 O 64 120 % =
63 ZFDEF(18) 65 120 % =3
64 CHNTHLD 66 /20 % p=3
65 BERLLOQ) 67 120 % =3
66 BELLO(2) 68 120 % =3
67 ZFDEF(19) 69 120 % &
68 BFOE% 70 120 % =3
69 HRDOK(1) 71 /20 % p=3
70 HROR(2) 72 120 % b=}
71 ZFDEF(20) 73 120 % =3
72 XELLO W 74 120 % =
73 BEE )M NLO (1) 75 120 % h=3
74 BEmE O NNLO(2) 76 120 % h=3
75 WEE O NNLD(3) 77 /20 % p=3
76 WEE DML D (4) 78 /20 % p=3
77 ZFOEFT A M) 79 120 % =3
78 ZFOEFT A M2) 80 120 % =3
79 ZFOEFT A3 81 120 % =3
80 ZFOEFT A MU) 82 120 % =3
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